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Shopping Multiplication

Solve the following word problems.

Jane went shopping and bought 12 dresses for her
friends. Each dress cost her $34. How much did she
spend in total?

Tom bought 24 packs of cookies for the party.
Each pack costs $13. How much did he spend in
total?

Sarah bought 35 t-shirts for her team. Each t-shirt
cost $21. How much did she spend in total?

Mike bought 14 pairs of shoes for his basketball
team. Each pair cost $56. How much did he spend
in total?

Emma bought 23 bottles of perfume for reselling.
Each bottle cost $45. How much did she spend in
total?

Jack bought 32 books for his class. Each book cost
$26. How much did he spend in total?

Lisa bought 15 handbags for gifting. Each
handbag cost $48. How much did she spend in
total?

David bought 22 jackets for his football team. Each
jacket cost $31. How much did he spend in total?

9 Sophia bought 27 boxes of chocolates for
distribution. Each box cost $29. How much did she

‘bspend in total?
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